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No. of Questions/F¥l $1 &=AT : 100
No. of Pages for Questions/J&l & Yw3f & WAy : 23

Time : 2% Hours] [ Full Marks : 300
wqg : 23 9§92 [ qorfas - 300
Note: (1) This question booklet contains 100 (hundred) questions in all

)

(30 in Section ~ A and 70 in Section — B). Attempt as many questions
as you can, Each question carries 3 marks. One mark will be
deducted for each incorrect answer.

Zero mark will be awarded for each unattempted question.

=] w1 gReeT ¥ qer 100 (&) ueT ¥ (@vs — & A 30 7 @S — 9 H 70)|
RYETRE TEl BT FA PR BT GAST DY | FRE YT 3 3P BT & | FoA®
THT 9% @ 7 UF 3 BIeT TR AAE ARG W BT iD
I B

If more than one alternative answer seem to be approximate to the

correct answer, choose the closest one.

af2 ve dHfous ok W8 IR @ fFee 8 o Adedy a8 9TR < |
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SECTION - A

s —JH

1. Before teaching, teacher performs :

(1) Identification of objectives (2) Preparation of Lesson Plan
(3) Knowledge of interests of students (4) All of the above
Rieror & yd awau®d FHRar B -

(1) &gt # gga= (2) "re-AreT HT fAwtor
(3) BT & Bfod B TEBERT (4) sufaa i
2. The idea of Basic Education is of :
(1) Mahatma Gandhi (2) Zakir Husain
(3) Jawahar Lal Nehru (4) Maulana Azad
(1) WeTeT TR A (2) SnfR g4 B
(3) AR AT AEG BT (4) AT g @1

3. Which of the following Education System is prevailing in our country ?
AR 9 A A 7§ o Ren-gome yefera € 7
(1) 10+2+2 (2) 8+4+3 (3) 10+2+3 (4) 11+1+3

4. 'Operation Black Board' is related with which stage of education ?

(1) Primary Education (2) Secondary Education
(3) Adult Education (4) Higher Education
ifave et are’ R oY fba s @ wwfdg g 7

(1) wrfad fen & (2) wreafie Ren |

(3) W RBryr < (4) S7g BrT 4

8. The efficiency of a Principal most often depends on :
(1) Good relationship with the children
(2) Good (cardinal) relationship with the teachers
(3) Good relationship with the parents
(4} Good (cardinal) human relationship

(2)
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TP GETTEE W HRAT G5 BY (TR B 8
(1) STAPT B AT I T FAN T W)
(2) AT B AR W WY AN W W
(3) afmrael @ [T e W 9N ¥ W)
(4) 3ed WA R 9] @ W

In which country 'Kindergarten Schools’ were first opened ?

(1) Germany (2} England (3) Italy (4) France
fepveRTIER e WAl TR fhw dwr ¥ W@ g o ?
(1) s (2) §eivs (3) FTel (4) wi¥

. - Which is the best method of teaching at Primary level ?

(1) Play-way method

(2) Self-learning

(3) Learning by doing

(4) Traditional black board and chalk method
TrfAE wR O) fREor B e’y ereeT TSB! qaT 8 P
(1) wa fafer

(2) g drg

(3) TP HrEgAT

(4) WERFTT w@raee SR 9fe A

'National Council for Teacher Education’ (NCTE) was established in the year :
T sreETE e uReg (@ Wo o Fo) @Y v & Ay g3 O ?

(1) 1986 (2) 1992 (3) 1973 (4) 2000
Three R's do not include :

(1) Reading (2) Writing (3) Arithmetic (4) Recreation
A sRT (3R's) ¥ srafifza 78 3

(1) ggr (2) foram (3) iR (4) TERSH

Fourth international conference of '"UNESCO' on Adult Education was held in :

e e R T B Ay SRR ARTeE ST geir o
(1) 1948 (2) 1965 (3) 1985 (4) 1975

(3) PT.0.
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11.

12.

13.

14.

15.

16.

If the day before yesterday was saturday. What day will fall on the day after
tomorrow ?

(1) Tuesday (2) Wednesday (3) Thursday (4) Friday
fe ot ¥ ggel B 7 UHaR o, A FS B qE DIA-Ar QT g 7

(1) HTerER (2) gar (3) THAR (4) PR
India : Rupee : : Bangladesh : ? :

(1) Taka (2) Frenk (3) Leera (4) Gilder
qRE : BYAT © : TRy - 7

(1) <& 2) %% (3) =T (4) fosy

Pointing to a man in photograph, a woman said, "His brother's father is the only
son of my grandfather." How is the woman related to the man in the
photograph ?

(1) Mother (2) Aunt (3) Sister (4) Daughter

T fRr P R Wea B gy 0P Afden ¥ ®eEl, “gH oY B W13 &1 O, W ArEl
St @7 et 9o B 99 AR B fd @ qIW @ I W § 7

(1) =i (2) = (3) 987 CYREL

Rajan is the son of Kumar, Sheela is the daughter of Rajani. Kumar is Father-in-
law of Rajani. What is relation of Rajan with Sheela ?

(1) Brother (2) Dewar (3) Father (4) Son

T GAR BT YH B, e vl B g | AR, O B AR 1 I FT Aren
¥ Far Rear & 7

(1) s &7 . (2) SR @ (3) foar &1 (4) I3 @1

If, it was Monday on January 1st, 2005, what day will be on December 24, 2005 ?
(1) Monday (2) Tuesday (3) Wednesday (4) Thursday

Ife 1 J9aS), 2005 &) AFER 97 ) 24 =R, 2005 ¢ SF-A1 T g8 ?
(1) IWarR (2) AR (3) gear (4) gewfdar

Which of the fdllowing day will not be the last day of century ?
(1) Sunday (2) Saturday (3) Monday (4) Wednesday

(4)
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20.
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MSEB/103/19 (Set — I}
ffafag & © ®9-wr e et &7 afss 29 =18 & ?

(1) Haar (2) wtEr (3) WHER (4) gmar
Myopia is related with Eye, Meningitis is related with which organ ?
(1) Brain (2) Alimentary Canal

(3) Kidney (4) Lungs

Ry T ey St A g W AfSTEie wt awm ey & ?

(1) ARaw (2)  STEReTeN

(3) T CON 2

27 :16::125:7?

(1) 36 (2) 114 (3) 136 (4) 216

If meaning of "+ is 'x’, meaning of '-' is '+, meaning of 'x is '-' and meaning of
'+' is '+, then what will be the valueof : 9+ 8 +8 —4 x 9.

A VB S K, W A, X BT R —ER Y B e, W9 +8+8 —4x9
T W FIT BT ?

(1) 11 (2) 17 (3) 2 (4) 65

In a line the serial of Sohan is fifth from both the sides, then how many total
persons are there in the line ?

Us UfdT F Wied &1 FAE QA R | diEdl B, @t ufed § @ fea @l € 7
(1) 6 2) 7 (3) 8 4) 9

The recently proposed NCHER stands for the following :
(1) National Cultural and Higher Education Report
(2) National Committee of Higher Educational Recommendation

(3} National Commission on Higher Education and Research

(4) National Commission of Higher Education and Recreation

(5) P.T.O.
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22,

23.

24.

25.

gTel 8] # g¥nfdd ude dlo Tdo g0 3Ro &1 waog = &

(1) 9 Foava i Izg fegr Raie
(2) e ARfa 9o Ren e

(3) A wHEE Sea e iR g
(4) AT B I ¥ AR ARG

What is the approximate % (Percentage) of enrollment in higher education in
India at present ?

1) 11 2) 12 3) 13 (4) 14
i ¥ 9RT A S Fen W Twiew #e a ufowa 2 7
) 11 Q) 12 (3) 13 @) 14

The 'Sarva Shiksha Abhiyan' aims for the given :
(1) Universalization of Primary Education

(2) Universalization of Secondary Education
(3) Universalization of Pre-Primary Education
{4) Universalization of Girl Child Education

wd e Sffrre &1 92 €
(1) wefae Rem o1 [dvfiesor (2) “rafas fRem w1 FdHETEor
(3) gd-smufas e w1 adiiew (4) wiferer e @1 ardHezor

The Planning Commission proposes to achieve target of ................ Gross
Enrollment Ratio by 2012 in India.

(1) 12% (2) 13% (3) 14% (4) 15%

QST TN & AFTAR 2012 TF ART ooovieirennnn FA TR HFUR Bl A B
o |

(1) 12% (2) 13% 3) 14% (4) 15%

The latest National Curriculum frame work was proposed in which year ?
(1) 2005 (2) 2006 (3) 2007 (4) 2008
TFAATH TR yrggeed g 9¥ § yRanfaa femy Tay on ?

(1) 2005 (2) 2006 (3) 2007 (4) 2008

(6)
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30.
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Who is the Human Resource minister of India at present ?

(1) Mr. P. Chidambaram (2) Dr.Murli Manohar Joshi
(3) Mr. Kapil Sibal (4) Dr. Manmohan Singh
TdHT H WRG BT WG WS A B 8 P

(1) * Mo facHaH (2) Sfo T&l AASR GrEh
(3) 3 wfua Rega (4) Sfo 7ET Rig

Which two great educationist of India celebrate their 150 year of birth in 2011 ?
(1) Rabindranath Tagore and Pandit Madan Mohan Malviya

(2) Rabindranath Tagore and Mohan Das Karam Chand Gandhi

(3) Pandit Madan Mohan Malviya and Mohan Das Karam Chand Gandhi

(4) Pandit Madan Mohan Malviya and Swami Vivekanand

formr =Y wEm Renfasl & 9= & 150 W WRa 2011 ¥ F0 8T 8 7

(1) &g AT SR SR Go AT HIET AeTary

(2) Y=g Y SR IR AT T eorae T

(3) Yo AET MEH "I AR WEd TN HIHEE T

(4) Yo AT WIEH AIGY R @R RAgeTTe

The 2011 Cencus show that adult literacy rate in India has risento ................ :

(1) 74% (2) 65% (3) 85% 4) 78%

2011 1 STEOFET B TTER HRA & WG TERAT & 98 DX .oovvveveeennn, g T
(1) 74% 2) 65% (3) 85% (4) 78%
Education according to Indain constitution is the subject of which list ?

(1) Union List (2) State List

{3) Concurrent List (4) Provincial List

ey <ifu & ergar e v fw et # amar @ 7

(1) &= g (2) vru A

(3) wHad T (4) foram ¥

When did Right to Education Act approved by Parliament came into force ?
(1) March, 2010  (2) April, 2010 (3) March, 2011 (4) April, 2011
WG GRT ARG e o1 ARFR F9 /T g ?

(1) =€, 2010 (2) @19, 2010 (3) w8, 2011 (4) e, 2011

(7) P.T.O.
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31.

32.

33.

34.

SECTION -B

Yqug -

1 )

Value of 00x 1’ —~—~—1+C0& 2x dx is:
0 2

J-Uloon I 1+cgs 2x dx BT D

(1) 200 2) 250 (3) 300 () 350

H—o w n2
i 1+2+3+..... HTEEIHF[%
H—»o0 nz
1 1 1 1
1) = 2y — 3) — 4y =
M 3 @ 3 G . @ -

If f=xysinzi + yzsin X+ y> +sinxyk, Then div f at the point

(0, E, E) is:
272

a2 f=xysinzi + y?sinx] + y? +sinxyk @ fag [0, g, EziJ W divf 8
T T T s

1) — 2) — 3) — 4) —

0 5 ) 3 3) A (4) 5

(1+i\/§)10 +(1——i\f3—)10 is equal to

(1+iv3)0 +(1-iv3)10 gemR &

(1) 1260 @) -1260 (3) 1024 (4) —1024

(8)
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The points (7, 8); (r,  + r); (-, 0 + =) and (7, 0 — =) represent :

(1) One point
R (7, 0); (7, 0 + x); (~, 8 + m) AR (7,0 — ) FRT Tem &

(1) @ fog

() =1 fag

(2) Two points

(3) Three points

(3) i fag

The centre of the circle 7 =5(«/3 cos 8 + sin 6} is

Tq r=5(J§c059+ sin 0) &1 % B

0 3

(2) (10, %)

0 (3

(4) Four points

(4) =r fag

@ [10, g]

The number of normals that can be drawn through the given point to a

paraboloid is :

3 1 fig ¥ te o Raeg R @Y T AferE) # qem B

1) 3

The eigen values of matrix [

3
|

1 1,2

(2) 5

2
1 0

3] &I ST e §

@ 21

(3) 6

i|are:

3) 13

@) 4

@ &1

The sum of all three digit natural numbers which are divisible by 7 is :

A st arel T Wil dmell, W 7 | Rwnfera 8 &1 9w 8 -

(1) 70336

(2) 70565

(9)

(3) 70672

4) 70812

P.T.O.
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40. For the equation | x| +| x|~ 6 =0, the sum of the real roots is :

BRI | 2|2 +] x|~ 6=0 B R arecfie T BT 0T & -

1 3 @) 2 @) 1 @ 0
x—
41, limoxe loge(1+x) is equal to :
xr —» X
. xe¥ ~log,(1+x) _
xh—>0 = BT HH IR R
3 2 5 3
1) = 2) = 3) = 4) —
(1) 2 (2) 3 (3) 3 (4) 5
5 cosd x
Value of dx is
42. _'[2 sin? x

_% sin” x
11 —-11 16 -16
1) — 2) — 3) — 4) —
4 = (2) 3 3) 3 (4) 3
£2 2
43. If (x,y)= T—zi-—, then by definition f,(0, 0) is equal to :
T4y +1
x2 _y?
uﬁ (x,y)z—z——z-——, Fﬁqﬁ]ﬂmﬁ fx(0,0) W%:
xX“+yc+1
D1 (2) -1 (3) 0 (4) oo

44. If A is an eigen value of a non-singular matrix, then eigen value of Adj A is :

aﬁwsrﬁﬁaamgAmamﬁﬁﬂmkéa},Adeaﬂa@ﬁwam:

A |A] A
1) A A 2) — 3) =1 4y
M) WA @ @ = @ 4

(10)
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If the angles of a triangle are in A. P., Then measures of one of the angles in
radians is :

e wd 3o & DIV QIR ST # § O, TE DI BT ST # A g

' T id 4 2%
1) — 2) — 3} — 4y —
(1) . (2) 3 (3) 5 4) 3
, 1 1 1 )
The sum of n terms of series — + —+—+..... is:
1.3 35 5.7

1 1 1 )
FN b — 4~ 4. B n Ul B YA B :

13 35 57

n 2n+1 2n n+1
1 2 3 4
()2n+1 @ n ()n+1 @) 2n
The whole length of the curver =a cos 9 is :
ﬂ‘sﬁr:acos@ﬂ%{f(aﬁlﬁ%:
(1) 4na (2) 2na (3) na @) =a
If o and ( are the roots of 4x% +3x+7 =0, then 1 + lﬁz?
a
a2 o AR B afERer 4x? +3x+7=0 & gl § Y, l+%:?_
o

3 3 3 3
1) = 2) - 3) = 4) ——
(1) 2 2) n (3) > 4) -

1 1 1

The value of 62 . 6% . 6% ....... o is
i 1 1
62 6% . 68 oo HT A B
(1) 8 @7 (3) 6 (4) 5

(11) P.T.O.
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50.

51.

52.

53.

54,

If P:xf+3f+2f€ is coplaner with vectors a=2f+2}+3§ and b%2f+3}+4!2,

then the valueof x is :

e P=xi+3]+2k R a=27+27+3k a1 b=2{+3]+4k & WY AR
Al x w1 HA B

(1) -2 | (2) 2 3 -3 4) 3

If sin y =xsin{a+y) and 4y 3 4 , then the value of A is:
dx 1+x“-2xcosa

4y _ A
dx 14+x%-2xcosa
(1) tana (2) seca (3) cosa - (4) sina

e siny =xsin(a+y) o ,dT A BT HE R

The slope of the tangent to the curve represented by x=t2+3t-8 and
Y= 2t2 —2¢-5 at the point M(2,-1) is:

fag M(2, -1) &R x=t24+3t—8 T y=2%-2t-5 gr1 Frefia a5 @ wf @
o 2

7 2 3 6
(1) 3 (2) 3 (3) 5 (4) F

The value of 4 such that x*~11x+a=0 and x*-14x+23=0 may have a

common root is :

x? “1x+a=0 3R x2-14x+24=0 & ve TS g A & a B 74 B
1) 5 2 12 (3) 24 (4) 32

The vector sum of six coplanar forces each of magnitude F with each force
making an angle of 60° with that preceding it is :

(1) Zero (2) F 3y 3F (4) 6F

I 6 FITA 9 TF IR W 60° T DI 9 9T YAF F A F B Al S
afeer I B

1) = @) F (3) 3F @) 6F
(12)
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56.

57.

MSEB/103/19 (Set - I}
If a particle is moving in a circle with a constant speed then it has :

(1) aconstant velocity

(2) aconstant acceleration

(3) an acceleration whose magnitude varies with time

(4) an acceleration of constant magnitude |

% Te @l fHe g9 W T faa @ § TRk {1 a9
(1) &1 Fraa grm

(2) @=er g B

(3) w@RYr 91 A/ T B WY qEAAT B

(4) @Ror &1 A g B

A bird alights on a telephone wire stretched between two poles. The additional

tension produced in the wire will be :

(1) equal to weight of the bird (2) less than the weight of the bird

(3) greater than the weight of the bird (4) zero

afe & @l 3 4w T gY AN & 9R R Sed g3 fafsar 8 o & o aR W
arfarfR<s =g &

(1) e & %R & R (2) fafgm & "R | HH
(3) Fafear & R @ s @ I

Radius of gyration of a disc of radius R about an axis through its centre and

perpendicular to its plane is ;

fedt R foam arel fov@ @ &% | T[uRe qrell a1 SHD ao & o9aa e B o
SaS gofF e el @

R R
W = ) 7z (3) 2R 4) ﬁ_ R

(13) P.T.O.
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58.

59.

60.

61.

A body of mass M is taken from the surface of the earth to a height equal to its

radius. The change in its potential energy will be :

fe M wefa arell f&T avq @7 gedl ot s @ yedl 1 Brogr @ sy Sug WA
SR S A7 Sae Refy et # oRads s

(1) %ng @) %ng (3) mgR 4) 2mgR

If a particle is projected at an anglé 30° to the horizontal with kinetic energy L

then its kinetic energy at the topmost point of its trajectory will be :

IR (B w1 B GRS /W 30° F DO R gY TS FH E A wafud fhar srg
T SAD TAY 9 T S g W SsHa wiaw wet g

W = @) E 3) E @ =

Which of the following forces is the weakest ?
(1) gravitational (2) nuclear (3) electrostatic (4) magnetic

f=faRag ¥ ¥ S-G9 99 999 FH BA1 2 2
(1) EETHY (2) fFemR (3) Rerdea (4) g=BHI

The time period of a mass suspended from a spring is T.. If the spring is cut into
four equal parts and the same mass is suspended from one of them the new time
period will be :

) R @ v W2l o) deom R St dled o T 81 It R &) aR {ER
AT H @re R g dun S Wl B 99 9 0P | dedidl Wi O Ahy Qe
HI BT

1) T @ % ® (4) 21

(14)
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If equal volumes of water and a liquid of relative density 2 are mixed, the

relative density of the mixture is :

IR g den 2 Ifeie e 99 ©9 © 9W Jradd & e ora ar s B
@1 IMfdes B 8r

3 3 2 4
n = 2) — 3) = 4) —
(1) 1 (2) 5 3 3 (4) 3
The dimensional formula of entropy is :
gt a?rﬁ'l-ﬁ??{ gF BT B ¢
(1) MI2T2 k™1 2 MLT2 K™
3 M2tk (4) ML2T12k!
When water is heated from 0°C to 15°C its volume :
(1) does not change (2) decreases
(3) increases (4) first decreases and then increases
R T @1 0°C | 15°C d& 7= fdam s @) ST raa ¢
(1) el aeara (2) wedT 8
(3) wgar & (4) Us "edl & R ggar 8

The temperature below which a gas must be cooled to be liquified by pressure

only is called the:
(1) freezing point (2) saturation point
(3) critical point (4) dew point

fre) 79 & 79 g™ 59 # gRafdd w3 & o) R ausa 9 o9 a3 o0 8ian
2 99 dEd §

(1) fewie (2) wfer fag
(3) wifow fag (4) aNiE

(15) P.T.O.
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66.

67.

68.

69.

The wavelength of ultrasonic waves in air is of the order of :

RIS g BT ' § aeirae] e e % B 2

(1) 102 m @) 107%m (3) 10°%m @ 10 %m

A metallic wire of length L and area of cross section ‘A’ behaves like a
spring and if Y is the Young's modulus of its material the spring constant %’ is
given by :
L w4rg 91 A’ SR @TC 91 aR U RS @ ORE ¥ @@9eR axar 2 SR Al
WPl 4T Arged Y & @ T faaies k7 @

YA 2YA

YL _ YA 2YA
m-x Q)L (QEE ) [

A laser beain does not obey the :

(1) law of reflection

(2) law of refraction

(3) law of total internal reflection

(4) inverse square law of intensity variation with distance
(1) gRrEEds &1 AW

(2) T &1 faw

(3) yof siaRe wrads & foram

(4) 3 @& O wEEE dar a1 Gepargurd Fam

Two thin lenses of focal length f; and f; are placed in contact. If the axis of the
two lenses is the same then the power of this combination lens is :

fi W@ fr PEE §Q A I 9T A UH g W 6l o} v T ¥ R <
oIl @1 T TP & B A 39 HYRT o AT urE” BN

fitfo fit+f2 ffs
1 L—t< L2 J= 4y =L
(1) > 2 JASf (3) i ()f1+f2

(16)
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If two electric heaters rated P and P, watt at V volts are connected in parallel

across V volt power supply then their total power would be :
gfd vV Ace W Py den Py are e gt 7 fasrel % fer AR @ WV die
arelt fagq s § T S O SHBT B 9ER &N

P1+P2 P1P2

(1) Py+P @) PP, ® 55, @ 55

If an electrically charged particle passes through a magnetic field in a direction

perpendicular to it then the :

(1) direction of the particle remains unchanged

(2) speed of the particle remains unchanged

(3) velocity remains unchanged

(4) acceleration remains unchanged

arR ye faeq & omafR o 5 gready &3 | degw R F v TR A -
(1) saa fown 8 sgert (2) SHP! AT TE FEA)

(3) SHFT T TE FaAW (4) SHGT TR FL] dgolal

When an electron is excited from first to the second orbit in hydrogen atom then

the diameter of the orbit increases by a factor of :

(1) one (2) two {3) three (4) four
WE BIFEIO GRATY] # gelagi ugel ®em ¥ gN He H Hivia grr @ ) BEr @l
N 37 [oTE W g€ O B

1) & (2) ar 3y 8= (4) arR

When a triode is used as an amplifier the phase difference between the input

signal and the output voltage is :

(1) g (2) g (3) n (4) Zero

(17) P.T.C.
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74,

75.

76.

S ¢S &) VRABRER &) a¥e wanT frar s @ v fAfew s fidg oiw @
d Heliax gl § ¢

M @ 3 (3) (@) o

When a germanium crystal is doped with phosphorus it becomes :

{1) n-type {2) p-type
(3) insulator (4) superconductor

FR g @ e & PRORY ¥ 19 @R oAt WG df 98 §9 o[ € ¢

(1) n-type | (2) p-type
(3) Regae (4) siferered

The radicactivity of an element decreases to one half of its original activity [; in
a period of 9 years. After a further period of nine years its activity will be

forelt Meanrdt o ®F WA ufifar s emfye =19 I &1 amar B W & 9 =9 A,
AT 99¥ & I SHD! AT ufar B+

I o L o
M 3 @ - ® - @) 3

In a photoelectric experiment the maximum kinetic energy of the emitted photo-
electrons defends on :

(1) intensity of incident light

(2) duration for which light falls on the metal

(3) frequency of incident light

(4) velocity of incident light

(18)
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78.

79.

MSEB/103/19 (Set - I)

yorer ded AT # weahfa Bt ol A afieas e st ek gkt g

(1) SmuldT yerr & Daar W

(2) I W UST A U B Fol TR W
(3) smufia veTer @ iy W)

(4) Myl wprer B AfY W

A gas can only be liquefied if the gas temperature is below than its :

(1) Inversion temperature (2) Critical temperature
(3) Absolute temperature (4) Standard temperaturc
T 7 1 %99 g TS BT § 59 5 A B a0 SH 39 IOHE | $H E

(1) =ghH aTgH (2) pIf<T® TIHH
(3) 93 TIUATY (4) ¥ YA

Which of the following compounds does not have sp3 hybridization ?
e et # @ feues sp® weeor e Bl B 7
(1) CCly (2) NHj (3) H,O (4) PCl5

The change of pressure does not effect on equilibrium of the following reaction :

for1 arfvforar 3 W wr gsg 9Rads @1 eIs uwg T8 BT
(1) Na(g) + 3Hp(g) == 2NH3(g)
(2) 250,(g) + O3(g) == 2505(g)
(3) PCl5(g) == PCl3(g) + Cl{(g)

(4) Ny(g) + Ox(g) == 2NO(g)

(19) P.T.O.
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80. Milk is an example of :
(1) emulsion (2) gel (3) foam (4) sol
T T& ITE B
(1) g¥Tera™ &l (2) St B (3) ST &7 (4) <ter &7

81. Which of the following molecules has zero dipole moment ?

Prer srogait  farere Ry oot gt B @ 2

1) CO, (2) SO, (3) HyO (4) NH3
82. Which of the following compounds is a weak electrolyte ?

forer et § § B T gaa fagd svEey § 7

(1) NaOH (2) NH,0H (3) NaCl (4) NH,CI

83. The solution which can resist to change its pH value, is called as :

(1) True solution (2) Colioidal solution

(3) Buffer solution (4) Dilute solution

g% frorae o f5 oY pH 7 & aRad™ @1 Ry ox o 8, U Hel 9l @
(1) s faer= (2) ®iEES RQoaa

(3) ¥ faera (4) o faerr

84. Which of the following is an example of thermosetting polymer ?

(1) Nylon (2) Polyester (3) Polythene (4) Bakelite
et F A 319 e aniAfeT 9gos & geTEr 8 7
(1) =Tt (2) dielieeex (3) dichef= (4) YaNaTgE

(20)
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86.

87.

88.

89.

MSEB/103/19 (Set - i)

Which of the following transition metals does not give coloured compound ?
foreg Hgwor el # @i i Dffe @ dar € ?

(1) Co (2) Zn (3) Cr (4) Ni

In a calomel electrode, calomel is :

T PANT sATRS H, DA ©

(1) HgClh (2) Hgp Cly (3) AgCl (4) PbCls
In periodic table, Lanthanoids are the clements of :

(1) s-block (2) p-block (3) d-block (4) {-block
anad wR ¥, TS aeEt BT @

(1) ¥ (2) p-ogE (3) d-¥F (4) e

The number of halide ion(s) in [ Pt(NH3)3 Cl Br]Cl will be :
[PE(NH3)3 Cly Br]C1 % Bcligs Tl @) | grfy

(1) 1 (2) 2 (3) 3 (4) 4

The IUPAC name of the structure CHy —CH(NH,)-CH, CN is:

(1) 2-Aminopropanecyanide (2) 2-Amino-1-Cyanopropanc
(3) 2-Aminobutanenitrile (4) 3-Aminobutancnitrile

9 WET CH, ~CH(NH2)—CH2 CN &1 IUPAC 99 & :

(1) 2-9fH= 9w arAgs (2) 2-UFA-1-aRET W
(3) 2-va R AEgRd (4) 3-xfMY /W AEege

(21) PTO.
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90.

91.

92.

93.

The most reactive among the given compounds is :

e T Aifrei W | 98 afka 2 -
(1) CH,=CH~Cl (2) CgHs—-Cl
(3) CH,CH,CI (4) CHy =CHCH,(C!

Which of the following compounds is most acidic ?

(1) Phenol (2) o-Nitrophenol (3) m-Nitrophenol (4) p-Nitrophenol
e dfirpt § P9 waifte speiy & ?
(1) fsta (2) oA (3) m-TERfBIA  (4) p-EKIfbele

Which of the following would exhibit Kharasch effect ?
71 4 9§ 39 TRM™ g B g9igm ?

(1) CH2 = CH2 + HBr Peroxide
(2) CHs—CH=CH-CH, +HBy _Yeroxide ,
(3) CH 7~ CH = CH2 + HBr Peroxide

(4) CH, =CH, + Hc] —Feroxide |

IUi’AC name of Cumene is :

(1) Benzene (2) Methylbenzene
(3) Ethylbenzene (4) Isopropylbenzene
A 1 [UPAC 19 ® ¢

(1) &= (2) Ao

(3) TR¥eRI (4) Mz

(22)
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94. The product obtained by the reaction of formaldehyde and ammonia is :

95.

96.

97.

(1) Formaline (2) Formamide

(3) Methylamine (4) Hexamethylene tetramine
“Brefeeags T s @ sfdfbar A o sare ey & 98 @

(1) ®BRAwEis (2) BRAMES

(3) ARYITHI (4) RARRNT g

Which of the following cannot reduce Tollen's reagent ?
(1) Formic acid (2) Acetic acid (3) Formaldehyde (4) Acctaldchyde
1 & ¥ o9 <o siffet @1 sgeaT 78 B wear 8 ?

(1) wiffes s () vfafes srvar (3) wRkafesszs  (4) Rrefeerss

Acetaldol is a condensation product of :

(1) two molecules of ethanal (2} two molecules of methanal
{3) ethanal and methanal (4) two molecules of propanone
vHieresSidl T Wye SIS © ¢

(1) T A & &1 ORIt &7 (2) RYTE & < JVRA Bl

(3) T 3 e @ (4) TN F [T 0T B
CHaCH,Br + CoHyBr —afdtyether e o cn, cH,.

A

The above reaction is known as :
(1) Wurtz reaction (2) Wurtz-Fitting reaction

(3) Fitting reaction (4) Ullmann reaction

(23) P.T.O.
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98.

99,

100.

Na/dry ether
—_—

CHgCHgB?’ + C6H5B?‘ C6H5 - CH2 CH3
A .
ST AfdfhaT o T FEd B
(1) Tt R (2) qui-fsfeT arfafman
(3) Tsfewr afafran (4) Sore yfafbar
In the reaction, CoHsNH; NaNQy /dil Hg—> X,the 'X'is:
0°C
3 el %, CoHgNH, NaNQp /AL HCL |y oy g,
' 0°C
(1) CuHs NO;  (2) CoHsCl (3) C,HsOH @) CyH5NO
D,0 is called :
(1) Hard water  (2) Heavy water (3) Softwater  (4) Salinc water
D,0O &1 W8T I 8 ¢
(1) ®SR oA (2) W ot (3) A WA (4) ST oA
Natural rubber is a polymer of :
(1) Butadiene (2) Chloroprene (3) Styrenc (4) Isoprenc
YIHIS Iq€ SHD 95D &
(1) g (2) FARIGA (3) I (4) sngAT

(24)
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1.

10.

11.

12.
13.
14,

7% YRA®T e & 10 e @ orer & 3@ o b e F wl g Ag ¥ ik o
7% Bel R 21 gRAET WG Ul WM R g O O e FREs B IR
ARt geas @ I gRaeT uTRT #R of |

. et aa H formreT ¥ed 7av-E @ afaRqw, form ar wrar o W g arte |

1 T |

. RUF e A R w21 g T @ A v 7 & Qv ¢ gawT gaevy 8

faar SR 1 $e BURYF FT 8 qegieT fHar ST

. SN STFPA T GURTA BT FHE AT JIEAOETS 57 97 o FwiRa @ w

ford |
JONGT T JUF I 9% 97 @ 91 e uiRa wrT ue ford qer 7 R4 gl

I MGT WY ]| W8I -576T qeg® Bl g8 HeT-gRRaeT w1 pHIe a€7 WS B TNW
afaa vl w fordy

. 3o WHo 3Ro UH UX IATHAE AT, Wea-IRer e @ A e @ @8 ) qur

TA-YRAPT R AqHAIE Hel 3R o THo dRo U W & wlafiedl § guRems &
SHUINIGRIS

. Syl vldfedl § o O uRadw @ e grr wlta F91 wftd sen @' ue

I A & WA AT ST

. wARAET F 9w aT B R Yefere iR A A § | 5w geT @ dafud gae @

fordt syt woR-TF @ W 9ida @ e QA T g3 @) IUN9A @ HYF Y% U¥
o 74 e & g 99 & T T &

TS G D SR & o g9 ww & g9 @ e @R | T 8 aAfUe gel B et @

WX JUET U 9 B Y HRE UR 98 SR et HIHl AT |

eI & & Y aIv W@ g oifda 9w aqar 78 W awar £/ 38 smu fhd 9w
&1 gav 98 3 FEd & O aafd Ui © wrm Ry W wh gl @ e e <)
W aeEl R g e {3y Smi

I Bl B ol 39 JRAw @ [ATS @ 6 a1 US o 3w @il g @7 qaim
Eag!

U @ SUR Pa o THo o TTN-YF & uRe 9ad § o BN |

ode WA B W s U Wad ¥ aER WM @ iy Ad ar |

afs w18 araelt wher # orfad Wl @1 wE wRan 8, O 9% foafaeney g FeiRa
g8 B/ Wil & /el |
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